
Supremum and Infimum
C = {atb AEA

,
b EB } A and B are Bounded

then show that -

Sup c = Sup A + Sup B .

Inf C = Inf A + Inf B .

Pzoof A and B are Bounded sets.

.

'

.
A and B are Bounded above

By order completeness property .

Supremum of A and B exist -

Let Sup A = d SupB -- B
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Ltp 7, atb where atb EC.
-

⇒ RTB) is upper of C .

L . Er.
Atb ATB

= U-B.

⇒ c is Bounded above . =

By order Completeness property.

Safe exists.

Let sup C -- r - = d.a.Bofc .



⇒ r f Ltp

safe f Supa + sup B -①

Now Atb fr
= L r j
=) b f r - a = U .BofB. Atb

-
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[ r JB .
⇒ B g r - A - b Br-a.

⇒ Pt Afr

⇒ as r - P -
- UB of A L na Fak-p.

⇒ air
- B
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⇒ supAt sup B f Supa - ④

from ① t④

Supa + Sup D= Safe .


